= O
A & 0l & AF S E M A
20124 20iah LBHSI JIEIS S ABIS XD ~ ASI= XD
SH: AEI=X D
Hal: 2Q% Z4o 2RI 1E
ol M =XEE XA (=CR-E
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl Ak 04 il b o HRs2
S 675,505,093 647,343,117 28,161,976
= 524,710,046
| 4,938,625
= 27,151,052
= 18,705,370
29X Zao =2X0I8 2% 12,174,425 1,490,979 683,446
2 7,497,967
= 39,400
= 4,637,058
HE =X EY x4 8,915,453 8,276,121 639,332
= 7,457,967
= 1,457,486
MBIZX HEHY =X 231,460 163,145 68,315
201 Yut2 Al 39,000 38,800 200
01 At 22|t 39,000 38,800 200
OABI=X AR Jfe 15,000
OAEI =X AlEEIL 20,000
OABI=XPIAE 2% 4,000
202 01t 57,000 23,000 34,000
01 201 bl 7,000 6,000 1,000
OHZT =X&F F4 =X 7,000
04 =TI 501 50,000 17,000 33,000
OMLAMRN MO0 L BEOI 50,000
203 2= Z bl 85,000 50,000 35,000
CEEEEESIT 85,000 50,000 35,000
OAMBIZSXZBAIR =7 85,000
204 M@ 2 A Y| 49,200 49,800 AB00
03 SHe LA Y| 49,200 49,800 600
oI g sy 50,0008 %8281 122 49,200
301 YR AD 1,260 1,545 ~285
09 ZA2LQABAI 1,260 1,545 ~285
OZARLRALAI(1Y) 1,260
olze 0% 9L =& 90,000 90,000 0
301 YBHE LS 90,000 90,000 0
01 A S & X 2513 90,000 90,000 0
o0fI2E 7 90,000
NS =X ALY Il xs =& 609,000 460,000 149,000
202 01| 5,000 5,000 0
01 2L 01| 5,000 5,000 0
ONA=X Al ZA 5,000




A AR =X
M =K 49 =EXDIE A=

H

ool ME EXBA X4 (Etol: & 2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

307 21zZtol 328,000 203,000 125,000

03 AtSIEtHIE X3 120,000 0 120,000
OMBIEH 2Ll NA(EEH, HECl3]) 120,000

10 At S X2 X 208,000 203,000 5,000
OLAT ANI=XNSs238 29 50,000
OZRE A=XNEes 23 60,000
OZRA=SNUHERD 24 35,000
OZYECYT 2H 35,000
OZAT A2I=XIAIHE K& 8,000
OZ2E A2I=Xa K& 20,000

308 XXM S0IA 276,000 252,000 24,000

01 IXNHHMBANELS 276,000 252,000 24,000
OAl - 2 Al2I=X82s 2 162,000
OFCENnAn 29 10,000
OAMsI=EXdZ2 =5 K& 48,000
olls==xeg 24 56,000

MBI SESRIIAIY =& 60,000 60,000 0

307 2I2toI 60,000 60,000 0

10 At S X2 X 60,000 60,000 0
OAM3IBSHFEHNH 29 60,000

X AL MBI A S TEAR (2 D) 6,507,493 7,502,976 995,483
= 6,040,467
= 467,026

308 XXM SOIA 6,507,493 7,502,976 N995,483
= 6,040,467
= 467,026

01 IXNHHMBAEES 6,507,493 7,502,976 A995,483
OXNSAMEMEIAEX K& 6,507,493
= 6,040,467
& 467,026

HEE NIEX dGHAH XA 1,417,500 0 1,417,500
= 1,417,500

308 KX SHHMSOIA 1,417,500 0 1,417,500
= 1,417,500

01 IXNHHMBAEES 1,417,500 0 1,417,500
OXNFE NI=X HEHA Ko 1,417,500
= 1,417,500

SXNAE =0 22X 1,549,304 1,647,320 298,016
2 39,400
L= 1,509,904

MEXZEEHH 23 F& 48,000 48,000 0
= 39,400




SN A=
E: 2% ZA9 2XIIY 25

Sl =SXASE HED 2N (el &2
_ _ MNuE o
SH-EH . C(BH) - NRAY - BES Off &k il b o bRz
= 8,600
307 2120 48,000 48,000 0
= 39,400
= 8,600
10 AFBI = X 2 48,000 48,000 0
OIS HRBHE 2 48,000
= 39,400
= 8,600
MBSTNE 2% =X 1,501,304 1,599,320 £98,016
202 01t 5,000 5,000 0
01 2UHOIH| 5,000 5,000 0
OABIZXAIE XE X 5,000
307 2I12H0| 173,520 165,960 7,560
10 AbSI = X 2 X 173,520 165,960 7,560
OSHD ASSTAL SAX =X+ 173,520
308 XHXIEHHI S OI 1,322,784 1,428,360 A105,576
01 X SHBABES 1,322,784 1,428,360 A105,576
OA - 2 NESTAIE BAX SN+ 1,283,904
OMUSEA DAL X & 23,880
OABISXIAIL CHISE 15,000
HEMDPSHS 1,709,668 1,567,538 142,130
2 40,000
= 1,669,668
HEADYE M 29 =3 10,300 10,300 0
201 YEr2 Y| 3,000 3,300 A300
01 A2 22l 3,000 3,300 £300
OMBL DS ALSIH 2 3,000
202 01t 7,300 7,000 300
01 2UHOTH| 7,300 7,000 300
ONMEL - DYAE BHS JIgtxy =7 7,300
CHRHEOLY S22 1,619,368 1,457,238 162, 130
308 XHXIEHHI S OI 1,619,368 1,457,238 162, 130
01 MXISHBAEES 1,619,368 1,457,238 162, 130
O2SAE 01018 0t ¥S4E 967,246
onSsm Ystz U £Y2 429,302
OAMTHOF 014 THEHA Qiatm s 222,800
OloIRdl ESHY YRSSEE 2%(21) 80,000 100,000 20,000
2 40,000
= 40,000
307 2I12H0| 80,000 100,000 £20,000
2 40,000




SN AEST D
ol £Q% S40 2N 2E
Sl HEMDHEHS (e
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F oK Ofl At ot Hws2
< 40,000
BNEEEES 80,000 100,000 20,000
OO0l Z2HA LRASSER 2Y 80,000
= 40,000
= 40,000
BEMYIM 243 199,960 113,600 86,360
SECH SLX 199,960 113,600 86,360
SECH X2 189,960 103,600 86,360
201 YBre gt 5,000 5,000 0
01 At 22|t 5,000 5,000 0
OUABEUY 24T E22 5,000
301 BB A3 15,360 0 15,360
01 AEI BB X 2513 15,360 0 15,360
ONAS 2IIRTX M2 X 15,360
307 212H0| & 122,600 98,600 24,000
LRNCENEES 122,600 98,600 24,000
< 223 29 33,600
oMolZY dzHE N 48,000
OXN0I2Y =X 3A X 24,000
OR62E A 6.25 )G HA K 17,000
308 X+XI €+ HI S 01 & 20,000 0 20,000
01 MRS HBLRES 20,000 0 20,000
©6.25F 22 0Ll IO A X2 20,000
402 Q12t R 20| 27,000 0 27,000
01 PIAR=EE 27,000 0 27,000
o 22I 24 27,000
SYRTX RS A2 XY =3 0,000 10,000 0
308 X+XIEHHISOI & 10,000 10,000 0
01 XIS Z A2 ES 10,000 10,000 0
OSYRZX ¥ RS A= N 10,000
BOHQI=X AEE S4 62,525,578 55, 152,748 7,372,830
=2 35,531,243
| 4,836,000
s 10,414,510
= 11,743,825
ZOHQISTAIL 25 L 29 26,070,458 23,978,762 2,091,696
=2 3,295,596
| 4,836,000
= 10,398,510
= 7,540,352
BoAlg =5 £X 466,600 489,700 £23,100




SN
X XH .
S Tt

el

At = X ot
ZOUA=X AMEE

HUA=XAIE &E

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
2 54,500
& 412,100
201 B2 H| 8,000 10,000 A2,000
01 AtR22t2ldl 8,000 10,000 A2,000
OROHQABOIAIL KT 29 3,000
OXMeI=XNRES 2H 4,000
OXEMA=SKME SALA ARAHZF 1,000
202 o4 4| 12,100 14,000 A 1,900
01 Z2WAYI 12,100 14,000 A 1,900
OXMOISXNSE L 12,100
301 et AZ 3,300 0 3,300
10 HALAIHI 2 A2 3,300 0 3,300
OHOM=2XHE SALK AEF 3,300
307 @12+01 & 252,400 274,900 A 22,500
= 54,500
== 197,900
10 MBI SXIEZ 252,400 274,900 N22,500
ZOHCl HOAIEX AN 29 115,000
= 34,500
= 80,500
OHIANEH =g 50,000
= 20,000
== 30,000
OFOCIH IR 54,000
OXMCIDIRAS 33,400
308 XXl EHXI S 0l 190,800 190,800 0
01 RbX| EHXl & &t 190,800 190,800 0
OAlZ ZOHLI 29 104,400
OEXNHel = 86,400
2R THEYA 0l™A 4,836,000 8,310,000 N3,474,000
J| 4,836,000
401 Al EHIZL 2] 350,000 6,938,000 26,588,000
p) 350,000
01 Al &I 200,000 6,938,000 26,738,000
OMEYR 0|™ &= 200,000
Jl 200,000
03 Al & 2C0HHI 150,000 0 150,000
OMEYR 0|™ &= 150,000
Jl 150,000
405 XH&tFE SHI 4,486,000 1,372,000 3,114,000
J| 4,486,000
01 AMESEHAS 4,486,000 1,372,000 3,114,000




SN
X XH .
S Tt

el

NEE!
TOHQI=X AEE 4
ZOHQAZKAIL 25 L 2%

- = _ N e
S EHB .S (BH) - HRAIY - B2 Ak e HDZS2

omMEEH = 4,486,000
p 4,486,000

AT MEyd 29N 2,400,000 816,000 1,584,000
= 400,000
= 2,000,000

307 212+01 & 2,400,000 800,000 1,600,000
2 400,000
= 2,000,000

05 BI2teIEra 2,400,000 800,000 1,600,000
00MEE 29 NABH 1,300,000
= 200,000
= 1,100,000
020129 % 29 BX 1,100,000
= 200,000
= 900,000

ZOHO WEXHE 29 296,800 293,800 3,000
= 33,000
= 263,800

307 212+01 & 214,000 211,000 3,000
= 33,000
= 181,000

10 AFBI = X2 X 214,000 211,000 3,000
OA2AZHO EXAMEH 2 23,000
OH+Z0HO! MEXNAME 2 28,000
0401 2501 P AL 23,000
0435 na 2% 30,000
OXIHENO KUXAMEH 2 110,000
= 33,000
= 77,000

308 X+ XI &+ HI S 01 & 82,800 82,800 0

01 HXSHHBARES 82,800 82,800 0
OA2AZOHO TEXAMEH 2 82,800

Zojel H2o =1 120,000 120,000 0
= 31,200
< 83,800

307 212+01 & 120,000 120,000 0
= 31,200
= 83,800

10 AFBI = X2 X 120,000 120,000 0
O AN SN HE 2 104,000
2 31,200
= 72,800
OLAZMASHERY 29 8,000
OFoHel IT BRI X 8,000




S AFEI= XD
Ha: FOOIST AME S4
Sell BOHQI=XAIE &5 2 2% (erel: &
o SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
ZOHQ HOTHEAL 2% 221,000 221,000 0
= 154,700
= 66,300
307 81240/ & 221,000 221,000 0
= 154,700
< 66,300
05 SI2tRI= 2 112,000 112,000 0
OsHY 2SRYF A 2 112,000
= 78,400
= 33,600
WPV NEES 109,000 109,000 0
OspESHAUYH st 2 109,000
= 76,300
= 32,700
ZOHO! NIHASTHEA S 2 2,544,144 2,509,600 34,544
g 1,012,471
= 1,531,673
201 L Br2 2| 2,183 0 2,183
01 At 22l 2,183 0 2,183
OFMOISTAIE SAK AP 3 2,183
202 01t 9,800 0 9,800
01 2LHO! bl 9,800 0 9,800
OFMOITHE U AE2SY XY =& 9,800
301 LerE A 6,000 0 6,000
10 BALAHI 2 &2 6,000 0 6,000
OFOHOISTIAIE SAR &3] AR 24 6,000
307 BI2+0| & 2,303,121 2,286,560 16,561
= 1,012,471
= 1,290,650
05 212+ =ta 1,717,921 1,696,800 21,121
OLHE BHA=NZ 2 1,455,421
= 693,571
= 761,850
OFOHO! WIIHXME 2 109,000
= 76,300
= 32,700
OFABEL 2 87,500
= 35,900
= 51,600
OZSMEIIF (01, 02) 2 66,000
= 26,400
= 39,600
WPNEEINEES 585,200 589,760 £4,560
OBEREZAZ 29 50,000




A AR =X

Ha: HOISK AYE S4
el ROHQIZXAIL &E U 29 (B9 &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
OAAFNL ASSHE 2 179,000
= 53,700
= 125,300
OFNLEA 2 81,000
2 32,400
= 48,600
oOHIIEEs 2 105,000
g 42,000
= 63,000
ORSME IIH 29 33,000
= 3,200
= 19,800
OxstSANE 29 130,000
= 39,000
= 91,000
O4SHSAMEHT NMBIY XD 7,200
308 XXI €I S 01 & 223,040 223,040 0
01 XIS HZABES 223,040 223,040 0
ONRLSISHMEHY AMBEY X2 23,040
OHMNQ XIAAS HEAL 2HXH 200,000
BOHQIMBAL SYX S 10,849,439 9,066,800 1,782,639
= 8,712,639
= 2,136,800
308 XHXI €I S0 & 10,849,439 9,066,800 1,782,639
= 8,712,639
< 2,136,800
01 XA SHHZABES 10,849,439 9,066,800 1,782,639
OMEBAIL el B2 X2 76,800
OFMOAMEA L 2SS 10,772,639
= 8,712,639
= 2,060,000
DOYQIRIATHE AL I SBAAR(2D) 281,485 496,682 ~215,197
= 216,527
= 64,958
403 REXISHHIS XH= 0| & 281,485 496,682 ~215,197
= 216,527
= 64,958
01 XX SHH K2 2 X 281,485 496,682 ~215,197
O OHOI= Q4 TH & Al & 281,485
=2 216,527
= 64,958
BOHQIMEAL JSETA(2D) 3,759,300 1,368,490 2,390,810
= 2,891,769
= 867,531
403 TEXISHRIS XH= 0| & 3,759,300 1,368,490 2,390,810
= 2,891,769




SN
X XH .
S Tt

el

At = X ot

BOjOISX AIBE 4
=1

HUA=XAIE &E

[=}
Ig

_ _ _ Muo
SNBSS - MBAY - BES Ao e {imE=Eh
S 867,531
01 UtXISHHAZ2E 3,759,300 1,368,490 2,390,810
OZOHAMEAIAE JIs 3,759,300
= 2,891,769
< 867,531
SHEZQ =EIHE AR( 165,490 165,490 0
= 127,300
= 38,190
403 XXM S =01 165,490 165,490 0
=2 127,300
= 38,190
01 AtXIEHH A= 2 X 165,490 165,490 0
OsHE ZO0H ==} 165,490
= 127,300
= 38,190
SEEMNQ NSMEAEAME(ZD) 78,000 78,000 0
= 60,000
= 18,000
308 XX EHMSO0IE 78,000 78,000 0
= 60,000
= 18,000
01 AXNHHBESEXZ 78,000 78,000 0
O=ESTM NSl 78,000
= 60,000
= 18,000
Zopel dz 23 43,200 43,200 0
308 XHXIEHM SO0l ™ 43,200 43,200 0
01 HXHHBLEEXS 43,200 43,200 0
OFMe M2R=8 X 43,200
O SXASE2HA MW= 9,000 0 9,000
201 fet24Ed| 5,000 0 5,000
03 A2 & 5,000 0 5,000
OE-Z&Ecd 2HUF 5,000
301 et et = 4,000 0 4,000
10 AL HIE &= 4,000 0 4,000
OE-ZEcld =HMuUF 4,000
OHoraeord o IHE X 36,226,530 30,952,984 5,273,546
= 32,134,037
= 16,000
< 4,076,493
o JI=Me2E X 94,600 94,600 0
308 AtXIEHMIS 0l & 94,600 94,600 0
01 HXHHBLEEXS 94,600 94,600 0




A AR =X

HE: HHQAST AIBE S4
X a %

SOl MOHOIMEON U THEX (el )
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il b o HRs2

OBOIAY Z4H| X2 10,000
OmOHQ BIZ0Io2Yl X 20,000
OB LRIA X 40,800
OO AVHE X 23,800

Bl MSIEE XIRME 9,187,314 2,187,706 6,999,608
= 8,462,000
= 725,314

308 Xt XI £H 7 S 01 & 9,187,314 2,187,706 6,999,608
2 8,462,000
& 725,314

01 HXISHBABES 9,187,314 2,187,706 6,999,608
OO HE X2 9,187,314
2 8,462,000
= 725,314

ZSZ0He BESX N 83,664 69, 120 14,544

308 Xt Xl £HHI S 01 & 83,664 69, 120 14,544

01 XIS B A2 ES 83,664 69, 120 14,544
OSH EZZ0IY HELE X 83,664

Zojel =X YTl MY (2D) 331,542 238,867 92,675
2 276,285
= 55,257

308 Xt X EHHI S 01 & 331,542 238,867 92,675
= 276,285
= 55,257

01 KRG B A 2 X3 331,542 238,867 92,675
OROjY =X L2 N 331,542
2 276,285
= 55,057

ZOHQl BT 20/(2D) 998,728 1,093,716 94,988
2 832,273
= 166,455

308 X+XI €+ S 01 & 998,728 1,093,716 ~94,988
= 832,273
= 166,455

01 HXISHHZ AR ED 998,728 1,093,716 94,988
OOHY #HHT20| N 998,728
2 832,273
= 166,455

22 AIZEOHO OHOIA T (2 D) 133,056 149,668 ~16,632
2 126,720
= 6,336

308 XX/ €I S 01 & 133,056 149,668 A16,632
= 126,720
= 6,336




A AR =X

M HOCISEX AEE 4
el MONQIAEOLN U HEX S (cel @l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 AXIEMBIAEEZ 133,056 149,688 N 16,632
OAIZHEOHCIOHOFAE KT 133,056
= 126,720
= 6,336
ZHOHQl MAEZTIHAIE XK (=D) 140,000 138,413 1,587
= 56,000
< 84,000
307 212t01 A 140,000 138,413 1,587
= 56,000
= 84,000
10 AMtSISRIEX 140,000 138,413 1,587
O&HOOIMAS HIHAIE 29Y 140,000
= 56,000
& 84,000
SOl MAMSEHIHAIE 45 K& 66, 100 79,150 A 13,050
201 Bt AH| 3,500 3,750 A 250
01 AtR2t2|dl 3,500 3,750 A 250
O&HMOIMAE EHHEE =2 3,500
307 QI2t01 A 35,000 45,000 10,000
10 Al SXIE X 35,000 45,000 A 10,000
OXOHIMASE EHOHAIE OIAHE o1 X 35,000
308 XX S SOl A 27,600 30,400 A2,800
01 AXIEMBAEEZ 27,600 30,400 A2,800
OLJASHE 23H K& 22,000
O&HOOl MNATHEAIAE HiSH XA 5,600
HOIAZS(=1) 15,444,922 14,319,510 1,125,412
= 13,685,374
= 1,759,548
308 AAXIHHMSOIA 15,444,922 14,319,510 1,125,412
= 13,685,374
== 1,759,548
01 AXIEMBAEXZ 15,444,922 14,319,510 1,125,412
O&FMeIHA= XI& 15,444,922
= 13,685,374
== 1,759,548
A= XS(=21) 6,370,043 5,828,064 541,979
= 5,644,342
& 725,701
308 AAXIHMSOIA 6,370,043 5,828,064 541,979
= 5,644,342
== 725,701
01 AXIEMBAEXZ 6,370,043 5,828,064 541,979
OXM=Y X2 6,370,043

_11_




SN
X XH .
S Tt

el

At = X ot
OIS Al
X

O 2OrS

0
e 0x

=

K

42

A&

_ _ _ Muo
SN FB - S2A(3) - MEAY - BES 0] & 08 i HRE2

= 5,644,342
= 725,701

Zojel o=2Hl NH(2D) 1,050,000 995,586 54,414
= 1,000,000
= 50,000

308 XXl EHHI S0 & 1,050,000 995,586 54,414
= 1,000,000
= 50,000

01 X SHBAEES 1,050,000 995,586 54,414
oMLl o2yl X 1,050,000
= 1,000,000
= 50,000

ZOjQl RtLASHHl K (21) 48,491 56,194 AT7,703
= 46,182
= 2,309

308 XXl EHHI S0l & 48,491 56,194 AT,703
= 46,182
= 2,309

01 RSB A BES 48,491 56,194 AT7,703
OFOHQ XHHSHH| X2 48,491
= 46,182
= 2,309

ZOjol SEXEHI(BD) 20,580 18,600 1,980
= 17,150
= 3,430

308 XXl EHHI S0l & 20,580 18,600 1,980
= 17,150
= 3,430

01 X SHBAEES 20,580 18,600 1,980
OFjel SEXEY| X2 20,580
= 17,150
= 3,430

Zojel MERZFIT DEN(2D) 87,150 48,300 33,850
= 83,000
= 4,150

308 X+ XI £+ S 01 & 87,150 48,300 33,850
= 83,000
= 4,150

01 X SHBAEES 87,150 48,300 38,850
oMW MESEIIP X 87,150
= 83,000
= 4,150

ZOHOLS THEXIZ A (2D) 1,814,588 1,764,510 50,078
= 1,671,331
= 143,257

308 XXl EHHI S0l & 1,814,588 1,764,510 50,078




A AR =X

Ha: OISR ABE S4
SOl MOHOIMEON U THEX (=CRE
_ _ _ Muo
SNBSS - HRAY - BHES 01l & o4 e HIRZE2
2 1.671,331
= 143,257
01 KHXISHH B A2 ES 1,814,588 1,764,510 50,078
OZOIOIE WEXZ HISH X2 1,814,588
2 1,671,331
= 143,257
A0 FOIQIRD X olojge KR (2D) 87,552 87,552 0
2 80,640
= 6,912
308 Xt XI £H 7 S 01 & 87,552 87,552 0
3 80,640
= 6,912
01 KHXISHH B A2 ES 87,552 87,552 0
OMEHLAZHOISD A ojey X 87,552
2 80,640
= 6,912
ZOHOF HELSAR(22) 218,200 224,400 A6,200
2 152,740
= 65,460
307 212+0| & 218,200 224,400 A6,200
3 152,740
= 65,460
05 DI29IEr 2 218,200 224,400 6,200
OONOH HELS X 218,200
2 152,740
= 65,460
AZO OISTHEXIZHEH 29 7,000 0 7,000
308 Xt XI £H 7 S 01 & 7,000 0 7,000
01 KRS B A2 XS 7,000 0 7,000
OAZS OISTHEXBHE 29 7,000
DOHQIAME AT HHEHAD N 3,000 0 3,000
308 Xt X EHHI S 01 & 3,000 0 3,000
01 KRS B A2 XS 3,000 0 3,000
OROHQUALEIAT HRERD N 3,000
Ol EZONO! JIAE S OIXI AL 40,000 0 40,000
& 16,000
= 24,000
307 212H0| | 40,000 0 40,000
£ 16,000
= 24,000
05 Q12913 40,000 0 40,000
OO A E I E 20| X2 40,000
= 16,000
= 24,000

|
w
|




©OARRI =X
M ZOHCISK ANEE 4

F ZBOHAAINS X Atal Z 0 2

SN EE - ER(EN) - NRAY - BaS sl e HlRE2
OHQIAIDN & 2 AFS & O 2K 228,590 221,002 7,588
= 101,610
< 126,980
ZOHQl QIZFEHH SHALFE 35,600 35,600 0
307 21zZtol ™ 35,600 35,600 0
10 At S X2 X 35,600 35,600 0
O33T =0t Uzl 7,200
OQFOoHel storE MEUE 9,000
OZAT =02 8I£=0| 4,000
Od= XMEMHL HLUal &It 1,800
OEX&EO0I2 & JIE&A 6,400
OZRE XNEZOML =X CHE 7,200
02 Sto=2sAE 17,000 9,000 8,000
308 XXM S0IA 17,000 9,000 8,000
01 HXHHBAEES 17,000 9,000 8,000
oOZofe gHIAU= 8,000
=s5cl eots=H 9,000
ZOHQIAl M =R 41,500 44,000 A2,500
201 Bt2Ed| 9,500 8,000 1,500
01 AR 2teld| 9,500 8,000 1,500
OZOHA=RICHA Alat 4,500
OFMAUXNESX &L HelFH =2u=F 5,000
307 2IZtol ™ 32,000 36,000 4,000
10 ABI =X 2 = 32,000 36,000 A 4,000
OO MMM X THEWS 12,000
QORI el & JIE &AL 20,000
TOlol AMBIEC EO§ EX 27,800 27,800 0
307 2IZtol 27,800 27,800 0
10 At =S XX 27,800 27,800 0
OXNHZOMR F20Hs 2L 8,000
OFL JIsZIItHa XI& 15,000
O=3tZ2 s XA 4,800
OIAEONO DR (2D) 42,000 42,000 0
= 40,000
& 2,000
308 XHXI SHAI S 0| ® 42,000 42,000 0
= 40,000
= 2,000
01 IXNHHMBAELS 42,000 42,000 0
ondEMY us X 42,000




S A= XD
I =X AME |4
ol FOHQIAINA 2 ALSIE Of =Y (649l &2
- = — N e
S EHB .S (BH) - HRAIY - B2 Of) A o4 e HDZS2
= 40,000
= 2,000
OI&ZOHOl AFSIZHOl IHXIR A (2 1) 64,690 62,602 2,088
= 61,610
< 3,080
308 XIS S0 & 64,690 62,602 2,088
= 61,610
= 3,080
01 RSB A BES 64,690 62,602 2,088
OISOl ALEIEH0] = 64,690
= 61,610
= 3,080
AYS LEME B 189,033,559 177,820,838 11,212,721
= 152,273,446
p 102,625
= 16,697, 142
= 19,960,346
ColgRie HED ASEE 10,215,550 9,481,767 733,783
= 8,310,325
= 1,905,225
ColU Rt A (R D) 9,899,550 9,155,767 743,783
= 8,310,325
= 1,589,225
101 21248 20,400 19,200 1,200
= 10,200
= 10,200
04 JIAR2ENSES 20,400 19,200 1,200
0% ®ole oAyl 19,200
= 9,600
= 9,600
ormrwa 1,200
= 600
= 600
308 XHXI €A S0 & 9,879, 150 9,136,567 742,583
= 8,300, 125
= 1,579,025
01 RSB A BES 9,879, 150 9,136,567 742,583
o2+ ¥ 2HZ 9,474, 150
= 7,895,125
= 1,579,025
Ox#I|IB Mol 405,000
= 405,000
ERTETp IPNS 316,000 326,000 10,000
308 XbXI €I S0 & 316,000 326,000 10,000
01 RXSHBABES 316,000 326,000 210,000
OALIOI2E =J| &X 10,000




SH: AEI=X D
M AU LBME P
ool ColUNtel HED ASRE (S5l &2
_ _ SIEN
SN FHH S (3H) - HREAY - BES Ofl Ak 04 il b o HRs2
oOLolgdxtel &= 306,000
CEMES XN ALSIEO = 147,739,391 139,426,463 8,312,928
= 135,351,906
| 102,625
= 12,284,860
COIXIER & A3t 75,200 42,200 33,000
301 EtB a3z 20,000 0 20,000
07 S12t01=2 2| | 20,000 0 20,000
OwQIAY FZF U AEIE O JIE R0 20,000
307 gI2tol A 28,000 35,000 AT7,000
10 AlBI =X 2= 28,000 35,000 27,000
O=3slZ2)d 22|kt XI& 28,000
308 XX/ I S 01 & 7,200 7,200 0
01 IXHHEHEXS 7,200 7,200 0
OLCIXNEXR A3l 7,200
402 BI2H X201 ™ 20,000 0 20,000
01 2t =22 X 20,000 0 20,000
owol 0IHEA U 523 g =X 20,000
LOoBSEIIA(21) 630,485 694,198 AB3,713
= 241,939
| 102,625
& 285,921
307 2I2H0I 630,485 694, 198 £63,713
= 241,939
| 102,625
= 285,921
10 AEI=Z X2 E 630,485 694, 198 £63,713
OLEsdEEII& 29 483,878
= 241,939
& 241,939
OsUm-e MR X 146,607
| 102,625
& 43,982
22 29 #43st IA 3,341,344 2,394,560 946,784
308 AtXIEHMI SO0I ™ 2,321,344 1,274,560 1,046,784
01 IXNHHMBANEES 2,321,344 1,274,560 1,046,784
OZ=2Y &3lZ=2 03 22| X X2 (18Y) 80,640
o0dzY 28l X2 (2,875 ) 2,240,704
403 Kt XIEHHIS A2 0| & 1,020,000 1,120,000 A100,000
01 AXIEH A2 E X 1,020,000 1,120,000 A 100,000
OL® B4 LOSXAIL Y - B4 1,020,000
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SN AEIEX D
H: AYE LSME B
CHol: CEMEB X ASIEC 20 (Etel: &8
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ol AF o8 Hlw &2
COOIHEA ¥ 525 Y 398,850 81,500 317,350
201 2Bre | 14,550 14,000 550
01 Ak 22l 6,550 6,000 550
0923 2% 2,250
ORUBSA NAS 23 2,500
OLoo Yl HER U Il KX 1,800
03 A2t 8,000 8,000 0
O0HOlL AL X B2 2 #A 8,000
202 01 12,100 12,000 100
01 204 bl 12,100 12,000 100
OLQ0IHEE ¥ 5235 FY =N 12,100
307 QI12+0I ® 4,000 4,000 0
10 A1 =X 2 X 4,000 4,000 0
OH= LOANASA HEH &It X2 4,000
308 XXl EHHI SO0l & 56,000 51,500 4,500
01 RXISHHZA XS 56,000 51,500 4,500
oLolold JIE o LANSA BOIYEX 20,000
oAtz X 36,000
403 XHXI B M S XH2 01 & 312,200 0 312,200
01 REXISHAI K2 & 5 312,200 0 312,200
OAMI X 251,000
OEENSHY AHIA HZ 61,200
col H220| X 364,800 384,000 A 19,200
308 XXl EHHI SO & 364,800 384,000 £19,200
01 AXSHBAEES 364,800 384,000 19,200
o4y X 364,800
JE-EAS(21) 142,908,712 134, 156,005 8,772,707
= 135, 109,967
= 7,818,745
308 X+ XI IS 01 & 142,928,712 134, 156,005 8,772,707
= 135, 109,967
= 7,818,745
01 X SHBAEES 142,908,712 134, 156,005 8,772,707
ONELYS X3 142,908,712
= 135, 109,967
= 7,818,745
COIOE - BNAIE 25 30,578,618 28,912,608 1,666,010
= 8,611,215
= 16,697, 142
= 5,270,261
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SN
X XH .
S Tt

el

o
s=

_ _ _ Muo
2N -3 - c2(3H) - NEME - HES Ol & 'oﬂ/'\_WH HunsZ
LOSIALE 2AXA(2R) 20,872,722 18,092,500 2,780,222

& 16,697, 142
= 4,175,580
308 X+ Xl CHAI S 01 & 20,872,722 18,092,500 2,780,222
& 16,697, 142
= 4,175,580
01 XM BAEED 20,872,722 18,092,500 2,780,222
OLOIMEAE 2 20,872,722
& 16,697, 142
= 4,175,580
LoIZTAIL JISEZ (D) 3,693,662 4,736,706 A 1,043,044
2 3,078,052
= 615,610
403 KHXI CHRI S XH=2 0| & 3,693,662 4,736,706 A 1,043,044
2 3,078,052
= 615,610
01 RIXISHHIRH2 2 = 3,693,662 4,736,706 A 1,043,044
OLQ=XAL Js22 3,693,662
2 3,078,052
= 615,610
LOEE MHHIA(ZD) 6,012,234 5,883,402 128,832
2 5,533,163
= 479,071
308 XHXIEHH S 01 & 6,012,234 5,883,402 128,832
=2 5,533,163
= 479,071
01 MHXICHH B A X2 6,012,234 5,883,402 128,832
OLQESEMHA M2 5,528,634
2 5,092,163
= 436,471
OSHLQ S2UNSL0| 2HXA 478,800
2 441,000
= 37.800
OSAHLQ BDEMEIIE X 4,800
Lo U RAAL =5 500,000 0 500,000
AN S EE(2D1) 500,000 0 500,000
403 X SH S X201 & 500,000 0 500,000
01 XM A2 2 X 500,000 0 500,000
oA A X 500,000
20| ZMESR 389,938,634 382,741,891 7,196,743
2 329,365,899
= 60,572,735
SH2 XY - E XY 182,755,598 188,389,891 ~5,634,293
2 163,800,381




SA ASI =X D
o 20| ZMBELE
el EEI2 XE - X K (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O &t 04 il b o bRz
< 18,955,217
HASS SEx¥ 637,265 374,200 263,065
2 249,702
= 387,563
201 Lt Y| 46,800 0 46,800
2 46,800
01 AR 22l 46,800 0 46,800
ORVAYLHBE FA4S42 46,800
2 46,800
308 XHXIEHHI SOI 513,265 297,000 216,265
2 202,902
= 310,363
01 XIS BAEES 513,265 297,000 216,265
OSARIUAZAR ALAT X 208,265
2 202,902
= 25,363
OXHMANKIE S X2 50,000
OXtaT ASN 235,000
403 XHXISHHI S XHE 0| H 77,200 77,200 0
01 KX EHRIXH=2 2 % 77,200 77,200 0
onx2l X 70,000
ORFENDl A es 7,200
AZ=X NH(2D) 2,702,659 2,702,659 0
2 2,573,961
= 128,698
308 XHXIEHHI SO 2,702,659 2,702,659 0
2 2,573,961
= 128,698
01 XIS BAEES 2,702,659 2,702,659 0
0ASEXX 2,702,659
2 2,573,961
= 128,698
2oAlE 29 N (22 1,916,306 1,743,903 72,403
2 1,341,414
= 574,802
308 XHXIEHHI SO 1,916,306 1,743,903 72,403
2 1,341,414
= 574,802
01 MXISHBAEES 1,916,306 1,743,903 72,403
ORYOINL 2 1,916,306
2 1,341,414
= 574,892
4300 KR (2D) 117,142,133 121,378,901 ~4,236,768
2 104, 126,340
= 13,015,793

—_




SA: ASI= XDt
M )| FZMEBE
Col =2H@ XY - KHE N (Etel: &8
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
308 X+ £ H S0l & 117,142,133 121,378,901 N4,236,768
= 104, 126,340
= 13,015,793
01 HXSHBA2ES 117,142,133 121,378,901 14,236,768
OMHZO 117,142,133
= 104, 126,340
= 13,015,793
=120 NA(=21) 26,433,934 29,939,690 13,505,756
= 23,496,830
= 2,937,104
308 XbXI €I S0l & 26,433,934 29,939,690 13,505,756
= 23,496,830
= 2,937,104
01 RXISHZ A XS 26,433,934 29,939,690 13,505,756
CES L 26,433,934
= 23,496,830
= 2,937,104
DS20 NA(=21) 3,902, 100 3,973,619 AT1,519
= 3,629,860
= 272,240
308 XbXI €I S0 & 3,902, 100 3,973,619 AT1,519
= 3,629,860
= 272,240
01 RSB A XS 3,902, 100 3,973,619 AT1,519
o0RsZo 3,902, 100
= 3,629,860
= 272,240
HAZHS XS (2D) 824,557 858, 181 133,624
= 767,030
= 57,527
308 X+l £ HI S0l & 824,557 858, 181 133,624
= 767,030
= 57,527
01 RSB A EES 824,557 858, 181 33,624
OB &rE M SO 824,557
= 767,030
= 57,527
ZATE XA ME (D) 441,500 431,503 9,977
= 309,050
= 132,450
307 8I12+0| ® 441,500 431,503 9,977
= 309,050
= 132,450
NEENEES 441,500 431,503 9,977
OZANEME 29 441,500
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S A= D
M 0| ZMERE
crell gHIR X - XE A (Srel: &2
_ _ SIEN
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
= 309,050
< 132,450
SYOIAL JSEANA(2D) 51,000 90,000 39,000
= 34,000
= 17,000
403 Xt EHH S XH= 0| & 51,000 90,000 39,000
= 34,000
= 17,000
01 BXISH =L E 51,000 90,000 39,000
ORYUANL IS 51,000
= 34,000
= 17,000
K| (2D) 22,284,234 21,191,407 1,092,827
= 21,028,873
= 1,255,361
308 Xt £t S0 & 22,284,234 21,191,407 1,092,827
= 21,028,873
= 1,255,361
01 RIS BA ST 22,284,234 21,191,407 1,092,827
oxg=z N 17,993,509
= 16,738, 148
= 1,255,361
OXNAREHE 2% 2,179,081
= 2,179,081
OJFARIY Z2AHIA X2 798,000
= 798,000
022U £33N 242 X 1,313,644
= 1,313,644
TARHE YBHAXNA(SD) 861,565 799,291 62,274
= 801,456
= 60,109
308 Xt I S0 & 861,565 799,291 62,274
= 801,456
= 60,109
01 RIS BA ST 861,565 799,291 62,274
OXAHE 2SO 861,565
= 801,456
= 60,109
MEASIZH N (2D) 1,666,480 864,727 801,753
= 1,550,000
= 116,480
308 XXl £ SO0l & 1,666,480 864,727 801,753
= 1,550,000
= 116,480
01 RIS BA ST 1,666,480 864,727 801,753
oxEIHZ 1,666,480
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A AtSIE X 1
M 20| xXMEHH
chel: gelE XE - GE K (el:@g
SA-EH O (BH) - HBAY - B2 0] Ak 21 gggf; HRS2
= 1,550,000
= 116,480
ASIEXNEESAHA FR2H A (=21D) 639,956 583,585 56,371
= 639,956
308 XHXICHHI SO & 639,956 583,585 56,371
= 639,956
01 AIXIEHIBAEXZ 639,956 583,585 56,371
OMIEXNSEAMEA MERA 1A 639,956
= 639,956
=2 A =& 1| (=21) 3,151,469 3,385,299 233,830
= 3,151,469
308 XtXI M SO0l H 3,151,469 3,385,299 A 233,830
= 3,151,469
01 AXIEMBAEXZ 3,151,469 3,385,299 A 233,830
O Jlx==32 X =80l 3,151,469
= 3,151,469
Al ZelAlY 22 HIXI&(21) 100,440 72,906 27,534
= 100,440
308 AHX| SISOl A 100,440 72,906 27,534
= 100,440
01 AXIEMEBAEEZ 100,440 72,906 27,534
OAtdI 22l AtY 29H| K& 100,440
= 100,440
NAsSEs N3y B#2H=EA &4 1,136, 100 452,000 684,100
= 905,900
& 230,200
g 2 XNEsK S8 =& 57,100 62,000 4,900
202 (4 Hi 12,100 11,000 1,100
01 2| 12,100 11,000 1,100
OMASSE X3 BFHEXES 12,100
307 212+01 A 45,000 45,000 0
10 At SRIEX 45,000 45,000 0
OINAZIEXJAHEH 29 30,000
O=S0IEF0l AFEE NS 6,000
OXECHH AIEEMG X3 9,000
Ss0|ex0 (NSNS (=21) 219,000 190,000 29,000
= 219,000
307 212+O| & 219,000 0 219,000
= 219,000
10 AFEI SRIE X 219,000 0 219,000
OXNEHSHH &Y 219,000
= 219,000
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SN

At = X ot

Hu: R EMBEE
el HASS XD HOSX A (Ere): & 2
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
At2elE TEAYEAE (=) 835,500 0 835,500
= 668,400
= 167,100
307 2IZtol ™ 835,500 0 835,500
=2 668,400
= 167,100
10 AlRIS X2 835,500 0 835,500
OdIE AlgAM (g2 ZZ2HE) 835,500
2 668,400
o= 167,100
Sstolgx0 ¥EI2(21) 24,500 0 24,500
= 18,500
= 6,000
201 et2Ad| 1,500 0 1,500
= 1,500
01 AtR2tel 1,500 0 1,500
SeH0IE0 XFgelsl Hal 1,500
= 1,500
307 2IZtol 4,500 0 4,500
= 4,500
10 At S X2 X 4,500 0 4,500
OXNg=EstEz2 e 29 4,500
= 4,500
308 AtXICHM S 01 & 18,500 0 18,500
= 12,500
L= 6,000
01 HXHHBAEES 18,500 0 18,500
O=st0Ig=F2 XNHE2s 24 12,500
= 12,500
O=80Ig==2 2HESIANE X 6,000
E=0II2 2I(AZSHIIS2ESLESAH) 206,046,936 193,900,000 12,146,936
2 164,659,618
L= 41,387,318
o230 A MHIA XA (=) 205,303,394 193,359, 281 11,944,113
2 164,659,618
& 40,643,776
201 Ler2aE 700,000 700,000 0
= 560,000
& 140,000
01 AR 2teld| 700,000 700,000 0
ORIE - tAl==2 700,000
= 560,000
= 140,000
308 KX SHHMSOIA 3,750,570 4,016,945 A 266,375
= 3,417,360
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S A= R D
M RO ZMELR
Sel: 22002 2Y(ATSHIISSYSH EERE:E]
- _ _ NUE &
S EHB .S (BH) - HRAIY - B2 Of) A o4 e HDZS2
< 333,210
01 HXESHBAEES 3,750,570 4,016,945 ~266,375
o=0 =g #23 57,150
= 50,800
[ 6,350
o°l2H X2 24,300
= 21,600
[ 2,700
ORUH ¥ L BT 7Y X 1,358,550
= 1,207,600
< 150,950
o0 22 2A3 165,600
= 147,200
< 18,400
CEEEEE] 751,680
= 751,680
OAL MBI 1,393,290
= 1,238,480
[ 154,810
403 XtXI S S AH2 01 & 200,852,824 188,594,236 12,258,588
= 160,682,258
= 40,170,566
02 2|2+ S 0l CH B+ & AL 21 B 200,852,824 188,594,236 12,258,588
CLELES: 199,325,649
= 159,460,518
[ 39,865, 131
OALMBRXIH 02 1,372,936
= 1,098,349
[ 274,587
OSMFABH Olet2 154,239
= 123,391
= 30,848
JEZoYL =& 208,000 211,000 A3,000
201 et | 9,000 9,000 0
01 At el 6,000 6,000 0
0°l220] Y2y 6,000
03 8 At | 3,000 3,000 0
OCI220{Z2IAt §I& 3| 3,000
202 04| 10,000 13,000 A3,000
01 204l 10,000 10,000 0
o°lzZ0ige = 10,000
308 XHXISHH SO & 189,000 189,000 0
01 HXESHBAEES 189,000 189,000 0
OYLEX oIAH| X (18%) 108,000
o#FH X 81,000
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A AR =X

o R0 EMBEE

H€e: A=220IIS 2R (ASS0HII=S2SSESA)

HA .- M. CO (5 HEAY . N2 HEE Hl o =2t
ol Bl 535,542 329,719 205,823
801 ailglbl 535,542 329,719 205,823
01 oyl bl 535,542 329,719 205,823
ooyl bl 535,542
HE2A AU (ALZ S X1 354,871 442,356 AB7,485
= 41,491
& 313,380
o3 2| 191,820 328,430 A 136,610
S23 o4l XI& 191,820 328,430 A~ 136,610
204 M2 A 191,820 191,160 660
02 g 22| 191,820 191,160 660
©4= 400,000 x6H x12& 28,800
OF= 250,000& *19F x 123 57,000
O6= 155,000& 29 x 123 53,940
Oo7= 140,000& *22F « 123 36,960
©8,95 105,000& 12 «12& 15,120
olEZIH(E20HII229SE3A) 53,064 0 53,064
= 41,491
= 11,573
o2z &LIAI E(=1) 53,064 0 53,064
= 41,491
& 11,573
101 2124 d| 53,064 0 53,064
= 41,491
= 11,573
03 RIAHAZZ2AE S 53,064 0 53,064
oo=30&elAH2Y) 51,864
= 41,491
& 10,373
Oz =&AL 1Sl 1,200
Jl2Z 4l 109,987 113,926 A 3,939
EMEY JIE23hl 109,987 113,926 A 3,939
201 L Et2FH| 50,177 46,826 3,351
01 At 2teltl 48,677 45,626 3,051
OFAN2E AR 22| 48,677
02 E==2gHl 1,500 1,200 300
OFN2E B2523H| 1,500
202 od| 15,360 14,400 960
01 SLHA b 15,360 14,400 960
ORAME2Z =UAHI 15,360




AT MEISX
A HAH2AAHI (A SR
el J1=2&l

S FB SR (E) - NRAY - Be S 0} & o Soe RS2

203 H Rl 22,800 22,800 0

01 J| 228 P 2=48H 6,000 6,000 0
o=¥% 6,000,000& 6,000

04 EAN2EHRFEH 16,800 16,800 0
©30¢2! Olst 350,000 44 W+ 12& 16,800

204 A= H| 21,000 21,000 0

01 A Mg PH 21,000 21,000 0
ounx 350,000& x5 »12& 21,000

405 X+HakF S 650 8,900 A8,250

01 HME =SS HSHI 650 8,900 A8,250
o1 650

HRES (A= X1 21,278,066 19,580,705 1,697,361

LHEHHXI = 21,278,066 19,580,705 1,697,361

odz=g20II=z XA 20,778,066 19,380,705 1,397,361

701 JIEIRI A ES 20,778,066 19,380,705 1,397,361

01 JIEIIHEES 20,778,066 19,380,705 1,397,361
O2d=zs0HII=SE3H d82 20,778,066

MEEXDIS X&E 500,000 200,000 300,000

R2JI=8E= 500,000 200,000 300,000

O EPAE=FSE—S= 500,000 200,000 300,000
O At2I=XJI= 500,000
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